10

1071

1073

Ratio to Sherpa 2.2.9 default
[N

0.5

Rivet 3.1.10, 2.9M events

7000 GeV pp Top (parton level)
E'|'|'|'|'|'|'|'|'|'|'|'|'|'||'|'|'|'|'|'|'|'|'E
- pT (tbar) (dy > 0) .
- RYTTYYN ]
- ”M \ ,“’ 7
B ,"’ i

0 .
E_’ *‘0‘ E
— Q’ _]
— oy 7]

3
| ”” 1
%
= ", =
— "n. —
- “OQ _
: "Q‘C”Q :
----- ¢+ Sherpa 2.2.9 default R,
_ p L 4 ”QE
_|,||||||,||||||||.|.||||,|||,||_
T T T e
| . ) ) P B Lo P B ) ) A L P B ) ) )
0 100 200 300 400

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


